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Hidden pieces

Balanced

Magic squares

Sherlock

Rectangles

Queen's Park

Mixed number-crossword
Magic square with equations
Easy as ABC(D) diagonally
ABC-pathfinder

Three-way crossword

Sea serpent(ine)

ABC connection
Pentomino "64"

Battleship with words
Scrabble

25 points

50 points (20 + 30)

115 points (45 + 70)

65 points

45 points (10 + 35)

65 points (5 + 15 + 45)
75 points

55 points (20 + 35)

110 points (20 + 40 + 50)
55 points (15 + 40)

55 points

70 points (15 + 25 + 30)
25 points (10 + 15)

80 points (30 + 50)

55 points (25 + 30)

55 points




Hidden pieces

Find the separate elements in the picture and write down their coordinates! Elements may be
rotated, but not mirrored.

Points: 25 (5 / found element)
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Balanced

Each drawing symbolizes a scale. Give value the weights marked by circles. You have to use
all the whole numbers of the range given in the brackets. Each weight must be used exactly
once. The ropes and bars are supposed to have no weight.
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20 points

Points: 20 + 30
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30 points




Magic squares

Write the given letters into the empty fields so that each letter occurs in all rows, columns
and the amorphous sections bordered by the bold lines exactly once. If the puzzle was
solved correctly, a geographical name appears in the marked diagonal.

Points: 45 + 70
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Sherlock

The puzzle's name refers to a similar PC-game. Fill the grid with the listed marks (e.g. "A, B,
C" in sample) so that each mark appears exactly once in the appropriate row. To place the

marks correctly, the given rules must be satisfied. There 3 kinds of rules:

1. Same c The marks must be in the same
column X column.
2. Near The marks must be in neighboring
column columns (order may be reversed).
3. Left - <Ts The first mark must be on more left
: y
right column than the second.
3,4,5,6 — <>y
P,Q,R,S — a<>5
a,fB,y,0 — B <>R
Qa 'a ‘7 & — S5<> Q
P<>e
416y p >e Q<>3d
Ply]s & >3

A few diagrams are provided for thinking...

Points: 65



Rectangles

Divide the figure into rectangles. Each rectangle must contain exactly one number, and this
number must show the area of the enclosing rectangle. The area of a single field is 1.
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10 points

35 points

Points: 10 + 35



Queen's Park

Some queens (chess pieces) are hiding in the figure; their exact number is given in each
puzzle. A queen attacks all fields that are the same row, column or diagonal with her, except
when there is another queen among her and the examined field. The numbers in the fields
indicate the attacking queens' number. Mark the queens on the figure.

Points: 5+ 15 + 45

3 2 3
1 5 points 413
2 15 points | 1 3 3
1
5 1 210
5 queens 5 queens
214 5 1
4
5
8 6|6 45 points
5 4
4
4141113
3 4 2

11 queens



Mixed number-crossword

Enter digits in the grid - one per square - so that the digits in each series of white squares
add or multiply up to the number in the accompanying grey-colored cell. In the grey cells,
the numbers aligned to the right edge refer to the digits to be filled in to the right of that cell;
the numbers aligned to the bottom edge refer to the digits to be filled in under that cell. The

digit O is not used, and no digit is ever repeated in a group.
Points: 75

15 27 9 18 1296 24
18 24
70 4
24 5184
1008
11] 6
23 [1120
7 29
35 17 2520
45
30 12
20 |10 96
40 378
9 |14
34 64
30 16I
75 points
Some hints:
378 =14 x 27
1008 = 16 x 63
1120 =32 x 35
1296 =16 x 81
2520=35x 72

5184 =64 x 81



Magic squares with equations

Fill the figures with digits 1-5 (1-6 at the second) so that each digit occur exactly once in each row and
column, and the given equations become true.

a b W N B

D 01 A W N P

A B C D E

20 points

A B C D E F

35 points

Ci1+D1=3
C4+C5=6
A2 +A3+A4=10
E4+E5=8
B3+C3+D3=8
D2+D3+D4=10

B4+ C4 + D4 =13
F2+F3+F4=13
Al+A2=5

A6 +B6 =10
F4A+F5=3
B2+C2=10

D2 +D3 =8

Points: 20 + 35



Easy as ABC(D) diagonally

Fill the letters A, B, C in the first diagram; letters A, B, C, D in the others. Each letter occurs once in each
of the rows, columns and the longest (main) diagonals. The letters outside the diagram indicate the
letters you come across first from that direction.

Points: 20 + 40 + 50

(Use letters A, B and C in this figure.)

B C B C B
C
C
A
A B
A
B A
C B B A
20 points

(Use letters A, B, C and D in these figures.)

D C D B B A D A D D
DI B
C A
D] A C A
C
B C A
C A
B A
B A B B A D A D A

40 points 50 points



